Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

D Paper : IV

Roll No.

Time Allowed : 2:00 p.m. to 4:00 p.m. (2 Hours) Maximum Marks : 175

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 01:55 p.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.75 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘D’, then he/she should fill up ‘D’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘D’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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formtizent
AT 01:55 IS SIS epIFe T4+ |
OMR T&9 “[qq I JGUHS W TGIh! {Bfes 3919 SIS TGt AR A6 e |

o [T BieT 47| TES (@I AT 9 T [Toqo @ S| 9 T 4 IR
oS 7R |

® I (I 4RI SPIR TAR S[oT B AN SO Tlgydl T A PR Tevewi 3,
(S0B (&P S} [l D 1 27 |

® Non-Standard OMR JRZS 0 AAE o @5 799 Fired e 53w ~Es
[GIREGITSE

o PTG 0 Tl TolfEs /(@IeT “[qe YAIK AR IR M7, 2= (S STENCE A0l
FHS TP A2 TG TS WAF T OMR TGI91g IF eWFIFoUC Fm5es ol
R TS | (RICT 2RI $oifERs /e siqe el I FH1 91, (S (& (OSTET
eiFES e 4f T 2T |

o FIFINE FFEN 99 ARG U5l (rough) FIN eEFIFes 7l siFerE R AR |
APFNE 461 (rough) T TG A1 A S (FIC 4767 Flarers I G | Teq o[q I
@2 {541 (rough) TN *F=FIRNE I, (SFOAZ T (S TG *[@q FeHR 1 727 |

o ST 2T AW AHTF 939 Vg OMR T& a2 Rl 27 | T 20 I Wa FIRQCE
Sfoe @It Teq 79 il 727 |

® ENIFOT TS ¥ OMR Teq ~g il 27 | *[=If@ ¢z g OMR Ted “qe
RIS TH9, FTS F'T, TGV AR (FIe o1l /F 2N Je-23F CIted 79 Fl
o |

® “SIHIF TN 2 T TF eWFFoe 100 b 2 AfFT WA 2TSF0h! A @ 1.75 TSP
2 |

® E TeFq AT (PIC! AT 779 e |

® JIEER 9 f1f7q A AHINET OMR T 2[q® el /F & I9-2135 (*F_02 T2
QAN |

o “HAE (SR ARamd T+Te AR @ eFFeq PR AEIRT 24, @ PN,
e, 0T, TR T BRIAG | 92 (FIS NN A RFITS @I 4]0 pets Tizar e
(oIS PRI 2o BRAMG TRFREBIP2. 2T Wi e 9o A |

Important Instruction :

o I fffoe a1 Sfv® Jite nTiTeT T 79905 OMR T6s “iqq B sz fordl 27 |
TR, AT 429 I LAFFSI FT <D’ AfFE OMR TEF o4 e diz® D’
R #AfR =F WWE 3€ ‘D’ Tt 33 IR AR | e 511 Remis @R [
TEHNR AT TR ST ARNPIFOI a3 it 77 |

o 2 I Gl FAIT TS AN T 2SS OMR T@F “[dF FNTS LWFIFSIT
ol v = 1ifeR | SRt sferidiem Srie 3 Rt 27 |
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IGERISE]
79 01:55 T #I0d @Pofaib Y@= =1 |

OMR Tes g AL JSHC® Wan e b I 7Jtd &ifh AU TS e |

o 5! TS AP ST @ N 9w TP oo @ S2@l S8 FF QA IR
ST SRS (ST = A |

o i (FI I SPIR TAR SqETT I A TAE SEmd T AW FRPTR oo I,
W S 190 A0 Reas= F91 23 |

® T YJITIT OMR T@d “Itad &) RIS e @ 799 eRo[tad WS 2 ™8
foT(® 27 |

o “RrFIAaIE IR (e THFERS /1T At MR FIE TR0 R(A, IR S A
FCF TP AT FAK R @R TSR OMR T€a1g @R o[t s o edid
R | @ A ol /@ itg T MORRAR R A1 IR, ORE OiF StiEe I
a1°ly T 204 |

o ST AT G ARG T (rough) IS 2PE#TE (ST BT FACS ARE | 21wl
2T (rough) IS TEI2[G 1 T (FI7 LR FI9E FACS AR 1 | AW 271t @3 27!
(rough) T TEIICq I, OF €2 TER7ICGH TR a1 24 1 |

® T &TF &+ AW «FH NG OMR T6I°[@ e W@ | G (A A WG IR &
SRR (e Teaiq (e I A |

® 2R[(TF A «Hb OMR el (eq 2@ | Aa=Ics (12 (8 OMR TeReiq emitas
T, 2GR (PTG By ARG WG Tiet /T I -G oI =ll 51 00 27 |

o SR AN 2 I @R &ota 100 T e AFE @R eTeFls & &= 1.75 199 I 4
IR |

® & TG & (I YT w7 AP !l |

® 5% O (FTF G “IArFIE OMR TGR(0F <1161 /FICE I - &5 (7] 2T FACS 2(A |

o FFHIFTE OITE R T ATS 2@ @ WA 2Bt IS 2@ | @ - SPIaRl,
e, 0T, T @R QG | @3 GG TN A ORFAC @I @R SO WL @RI
P 20 BRG] ALRANTR &S W 03 9/°l) FAEH |

Important Instruction :

o “RrFIdF Moo 2eq Tt ATT e#tal FIC T OMR $eI7tad WS B @14l =F |
TriizgerE, AR ST ereltad (IS ‘D’ AFE OMR T6390a7 R =2 D’ forits 23
@R T2 38 ‘D’ T I T T | I (I PSR wewelik R
RIS R GR 2E#IAD I FACS T |

o ! T Is TR It A (NAFCP TS OMR T@Feitas A0zt @rpeiaiG e fires
2@ | &t A e 7S weifes I Rfte =@ |
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ferer=

I 01:55 fomf fernt stAsef v feemswt SeATeT |

TR AMYATE TS Tt gt fem Tre St @ T A |

® 3ITSE QT AR THTE Taa] [SRERE G AR TR 8] TST STHSIE @ ANRAT
BT ST 7T |

o Ifc Aian fommemmn mia war @ wen MSiEE T A Auerat fawrn, feume SRR e
T ST |

® Jf¢ Non-Standard OMR Sheet STERA™ ST, fSA=@EET MaaT-Maf I T8=1 (Roll
No.) & feremmsf &1 Srrmme Tam fort 9 |

o formEETERT ARfCHTET BH™ TATA™ /IR faarsame e gars e 9, fifaame Seer
T 3TSITe @UTETE il R w2 W g feerg 3T OMR e faersat
TREATET ST S TuTa | SRaT AR JenferT /eI feersare Ay wsf amaw 3 gars
WA 3T6AT TSATHHT STTASTTE €1 HATd BT @A o= 1E TN |

o fsarrEmn Maf MaE Y@M THT ST rough FERE GiF™ foaTgaas @l g |
feMRERT rough EETE! TR foeTsaTd TS g4 TEWH WHTS SERFl §FF 8T | fhw
feeTsama 3¢ 9 rough FERE @I 376eT R foeie@ UM WA SR AT |

o TTHE FHEMA U™ feArEEE THe” OMR A= faems A wrme | mRf Seen 19
o St st forr ferette @ s = |

o T faags armE TH OMR TR faag gmm sme | femmeamn &8 &1 OMR
ATRATE AT - : T foers Tmr om0 d@m foaemst ', waf +'s smfe safeet
YT =T TaT TEH Seu=sit @l T |

® HIEH THT 2 U= IR A feegard I9 100 HifY U= 3T WFhHe! JiFmEE-l e
e yr@m™ 1.75 TR 9T |

o I fFrafy aram™ Set gFE’ R 19 |

o frrEmT OMR AT feremgama @fer et ST T SerasTia TEs QT 31Tq WTem-T
AT |

o 3TaTe & it giaenfy amam M anieamn wisife @ foems stermi SiFmeR e
Taie SITTH, SR e, s7ar, 9, &< AR 3UiS | o ST Jres fosll T BiEeEE s -
I TS TS TSI ST SUSETe BITETRENT H7s BT §HHT T T |
Important Instruction :

o foAmrrarn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
e g A | fafefor anfed femrramen wiemm wem feemef w'e <D @t feam faemef &
R G e &'er ‘D’ oAt Arna ot for st e @ A |

® 3THNT WG ARTAE fam femreamen Amfemfs smamma OMR fmam gt evna
i feetgEian ST gl ARTH | TSTee1 STHWIE FREt Taned fEems THemmE S |
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frdw

U 01:55 T | Y& Y9 Yierent 7 @ |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o Thianefi @i frfterss g feu o ufefa /A 3fic W & IR SR T TR, Ugeh 9 3 o &
¢ 3R g IR T gf&qeht 3T OMR IT-94 f{iees i Hiad o &g | 3R foreft aliemelf 4
Iufefa /U 3ffe W e gedter T foham, a 3| wdeneff s rufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T W weh | wdeefi W
(rough) T IT-9 A7 31 Ferell T8 & HITe W & L Feh | I qhiemel ST-u9 W s W
(rough) T AT 2, A T IT-T T JoTeh a1 a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH € & S | Tt §H W1 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® T If&ieht < T1Y T OMR IW-97 fean smom | wieneff 39 ffde OMR IW-93 # ¥
GfEent 1., T GFETehT T I 3T HTHT 1 IS AT Torawor FraeTi & shaet el 31 et sicl-
Ui5e U | W |

® Ui ST FHA 2 FU BTN 3 ¥ GfETehl § 100 T & 3TR Jesh I o fIw 1,75 376 20 |

® TTeTd 3R o foT0 g ThRTeHeR 37eha 721 g |

o TR 1 38 T8 T 3R OMR IT-T3 W hael Tl AT AT STA-Tig< 9 § |t FIAC
WA B |

o wlieneff 379t glaen o fo7u e T T 7o gfecent w1 Teieh Sve S5 - wTfveh 8T, S — ST,
s, srel, fawdt 37t 3t | 30 ey o wren o weentor 8 foneft wehr 61 fe o wmem 9 srgfaen
B W 37T 7T i & HE W S |

Important Instruction :

o ulignedi wig gHivaa o & foh 39k g1 W9 YRaent &1 g OMR SW-U3 § &@ &1 ¥
T /ST TR T @ | SeTeuRaEy, e udenef fi wva gfere @t @i ‘D’ @, @ OMR
IW-U= | hig ‘D’ fera 2nm 3R 9= D’ =Rl Hien A1 2w | afe uvA yfeent § 8w =
30 e 9 HE femfa fore, A gema wdten Trfierss @ o wva gt agem % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh o 4 OMR STR-US & WY U9 Yieaent ot s
ST BN | ST 3¢ STJUREd o w9 | THel S |

SLRC-2022/P-IV/D 5 P.T.O.




PRI I -3 'S TS 2

(A) S o (B) ol

(C) wfesm (D) MeeES

PR (Pakyong) R«wa SRIES

(A)  STEIBe T (B) Pifw

(C) wIsm (D) s

TR TSI TET G 7

(A)  IFRUTEA TG (B) fufFry

(C) =M (D) Ty

TN EATE TSI Hal [Rad & ?

(A) = TG (B) Tfen

(C) =M D) fism

Pakyong airport is located in

(A) Arunachal Pradesh (B) Sikkim

(C) Manipur (D) Mizoram

ZARI <o | S TSRO SN il i fbaf tarm -

(A) «@FeR T (B) &2

©) =S (D) A=

22 TR A BB TEITS TR (AE @ @ 3 oa el 39
A) GRS T (B) el

€) =fs (D) I™

TS AT ATE FEgE ST TEa T W1 SR SIATestt 77 ?
(A) &8 T BIS HEt (B) Wt ms

(C) #HaT (D) @&

Teft BT T T Y ST ATl el 31T U] S 2 -

(A) T H S (B) ™

(C) =it (D) =™

The most common animal figure found at all the Harappan sites is the
(A) Unihorn bull (B) Cow

(C) Elephant (D) Tiger

R ETGPISTS AT T GTAI#IfS ST el sire<ea FIT< =11 :
(A) 2T IpreNziR (B) TS TqCIEE
(C) <IMCH IR (D) T8 A9°0Q (5213
TR R AT SR AR 2 3R o] NS I 2T
(A) T Iz (B) TG RI21R
(C) NG IR (D) TR I991E (sitzi3
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T T3S GATS THE 378 W T FATH TET3 SR AT M fhamst gan aa= ?

(A) THRR QMR (B) WY SUTIETS

(C) WWET SUNER (D) T8 ST TMETS
TG o SITEF ISt o QI STTEM ST o Y@ 37 el M o afd o -
(A) qUTHG SErTIErs (B) WhIEHT SRS
(C) WWEA SUNER (D) HET S METS

The Chief of the Ahom Military during the reign of Chuhungmung and the
husband of Mula Gabhoru was

(A) Purnananda Buragohain (B) Frashenmung Bor Gohain
(C) Khamsen Borgohain (D) Konseng Borpatra Gohain
(I DTS “aTeeq (e o] %" “Sizpan” iy il t2fwe 2

(A) 1867 (B) 1858

(C) 1876 (D) 1905

SIS e (SR “SIRAT PIIIN (Pl AT (e 2T 2

(A) 1867 (B) 1858

(C) 1876 (D) 1905

T AT argars’ fog@t I Ta-t ey 9 g/ g ?

(A) 1867 (B) 1858

(C) 1876 D) 1905

Tort ad T YRA & T S ! GRIETR <hY TR <) 78 o ?

(A) 1867 (B) 1858

(C) 1876 (D) 1905

In which year the title ‘Viceroy’ was given to ‘Governor General of India’ ?
(A) 1867 (B) 1858

(C) 1876 (D) 1905

IS (MG AR T2 SRS AT (GRE REe P67 718 2z ?
(A) 2SR P (B) A& POl

(C) Y =PIl (D) “i%es SPIo!

focw Srafie @ =i R @3 T Aclele Sl sifaw sifve 2t 2
(A) TSR sHhmE (B) A STPTA

(C) T o0 (D) % TP

FEATS BTN TMeHaT 99 Giafasni werf @a fhers 2

(&) =t wIR (B) ferfy el

(C) Tfawi (D) =iy wIf
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5. dieivie el gftwe fefefad foea gaunfass yaum w1 afom g 2
(&) w0 e (B) el igeeh
(C) =t g (D) e e

5. Bodoland Territorial Council is a result of which of the following
Constitutional provisions ?

(A) Second Schedule (B) Seventh Schedule
(C) Sixth Schedule (D) Fifth Schedule
6. =R R[S SO AR (@ Sifeeld tire T ?
A) g B) JIE
(C) et (D) WZreR
6. TN 2[NS TR A (T ST 0 @ ?
) fafse B) I
(C) et (D) w3
6. T3 EISTET BRAIS &S BN cAlesll § ?
A) Tt (B) et
(C) ™ (D) WEd3
6. Fr=frfaa & & M @1 wqg “omg TR SET Y TEG R 7
A) fufsm (B) et
(C) ™ (D) #&g
6. Which one of the following groups, is the festival “Lai Haraoba” associated
with ?
(A) Mishings (B) Karbis
(C) Garos (D) Meiteis
7. I o] TEI-7 SIS (T 5126 LS ?
(A) S (B) TGP
(C) W D) T
7. leet sl Ted o SIRTed (FIN SAES ?
NIRCIRE G B) TIGF
(C) Wl D) T
7. ST ThaTr HI-HHST YRASTTE T8 € ?
(A) RIS (B) W%
(C) ¥ D) T
(A) TRAATH (B) TR |
(C) FRH (D) T H
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Where in Northeast India is Kangla fort located ?

(A) Agartala (B) Gangtok
(C) Itanagar (D) Imphal
“SIRT” *ACB] TS (PIFCGIE GITS A= ?

(A) Tome B) e

(C) TRt (D) 2t

(A Tomae (B) et

(C) et (D) et
e I T ST 7 R S 7

(A) T gRm (B) sig ¥
(C) T g™ (D) fog urm
“efrefer” T et for th e B weg B 7

(A) S e (B) wiged
(C) Toewg o (D) feg o
The term “Tirthankaras” is associated with

(A) Jainism (B) Buddhism
(C) Sikhism (D) Hinduism
TGq-7[7 OIS (G ST ST ALENTE TN CICS Heeal 7= 2
A) e B) farar

(C) TR (D) ResEN
Ted-14 ©I0es (e AeyTs IENICIR A0 S 7212 7 2
A) e B) fazr

(C) 9l (D) NCsEN
GI-HHT IRAM el TESAN RHT=I STeTesTst ArSaerr ?

(A) g (B) Fgu

(C) e (D) Ty
YA T T 98 TS ST STATCR < T EHT 913 81 hidl & -
(A) o (B) frgu

(C) W™ (D) fism
The State of Northeast India that does not share borders with Bangladesh, is
(A) Manipur (B) Tripura
(C) Meghalaya (D) Mizoram
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10. fefeTire s = fowae wifiet *<mb! (2R :
Q) TG (B) =%
(C) s (D) fowefE
10.  SIET Q1 1910 Y& @F I |
(A) WG B) T
(C) iseT (D) ==
10. TTERTE SHTEM ToRTd TRITARE! TR |
(A) T (B) IFH
(C) IFRaaT (D) <ETgL
10. fowm=hr= |
(A) T (B) TFH
(C) IR (D) <HTgL
10. Find the odd one out.
(A) Gangtok (B) Imphal
(C) Agartala (D) Dimapur
11, PR TS N N 2 qrere “{ie+129 faor gz =it (2fee 2
(A) 1526 (B) 1536
(C) 1556 D) 1576
11, S @R (R T o “M1fersi02 o o Y20 T 2
(A) 1526 (B) 1536
(C) 1556 D) 1576
11. oo AISYRISTE 3Thar TR g ToRTd IHdar 2 7 greagrn S 2
(A) 1526 (B) 1536
(C) 1556 D) 1576
11. 9 I go ST Fhat AR g b g ay _ Hgsefl |
(A) 1526 (B) 1536
(C) 1556 D) 1576
11. The second battle of Panipat fought between Akbar and Hemu was in the

year
(A) 1526 (B) 1536
(C) 1556 D) 1576
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12.

12.

12.

12.

12.

©ITeq [HI54 SR Seq Kigfapre! ffdibas @hol TiimeNREe A toibne [Kg
IS “ 6919 b6 7= (NOTA)” RFeich! Iee e ?

(A) 93, 2012 (B) «@=4, 2013

(C) wREIRT, 2015 (D) =3RS, 2014

OISR -G S SRTed RaFpTel FRIBE T4 N-EE 1o (Sid e fZeE
“TART F2 A (NOTA)” &Il FCaf%e 2

(A) =95, 2012 (B) +Ce=4, 2013

(C) I, 2015 (D) ®IERF, 2014

aae 787 (NOTA) @ fifsrastt yram srergeme 2

(A) A, 2012 (B) wemx, 2013

(C) SHer, 2015 (D) 3HHS, 2014

WA S e STRINT 5 Wi | ferermras gl 3 wde fosheq § “Iuier o & wh1g 721 (Hier)”
UgA! IR e AR fehaT 2

(A) 3T, 2012 (B) Taw=w, 2013

(C) <Had, 2015 (D) 3RS, 2014

When did the Election Commission of India first enforce the “None Of The
Above (NOTA)” in the voting option in the assembly election in India ?

(A) August, 2012 (B) November, 2013

(C) dJanuary, 2015 (D) October, 2014

13.

13.

13.

fermferfe T3 ! @ wa s 727 2

(A) I I-317S R s432 TICATS I TS |

(B) TR 71 (2= 9 SRR g (T3 SeAMRI O |

(C) 2B A (0= bl BN w%eet RG] ©Req Srolleri f[4o/TS Z e ofEs |
(D) ST TR FAR gUlh LTS SAES |

T3 e [ W =17 2

(A) IWEI -3 (delta) AT IZE S NT=F (mangrove) I |
(B) B 4<% 32€T I (mica) SLAMT |

(C) [ BI° @b TSN I SRTSA G [N |

(D) SRS AVE LS JZGT IS BN SSANG SAES |
MR S937 el ST ?

(A) FeaaH §-g19 371 g S5gs Qe §u g A |

(B) WRA3T AN S3M-g3 ST ATShI fega gred |

(C) WAl TTe 3ATe UM Se8el &1 SIS SITed 62 69 |

(D) Rl SgHgs AR TeTe ¢ foeisn [easmE g |
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13.

13.

fffaa i s AT a T & 7

(A) HeTaH S g o Had ¢ HU a HI AR |

(B) i foava =1 qa8 ST 319 ITEH I R |

(C) TEUE T Y- &7 & Sl HId o [eT¢ TEHTSA & |

(D) 9N 6! ge8 St Fqeea @R I it gfiet oa d e |

Which of the following is NOT a correct statement ?

(A) Sundarbans delta is home to the largest mangrove forest in the world.
(B) China is world’s largest mica producer.

(C) Easter Island is a land area that is antipodal to India.
(D) India’s largest inland salt water lake is located in Gujarat.

14.

14.

14.

14.

14.

T FRIB SWI9E qCo, G 7 A PR AR AR @I GF IS AT Wel PG
P14 e FFS AT 7 251 21¢0) 27 alfai ?

Q) ¢ (B) ol

(©) i (D) T

SRS oI5 SRR PR SopIi GIET Astehes 7o 18R wel RoTe s oo
FS(b AT TS AN 7ol R 91°0) 20O 2(F 2

A 9= (B) o«

(©) i (D) T

TRATR foamrg’ 31 s1fed, BTeUi B TR ARSI JIME TSGR ST
T TSI TG AT TR G 2

A) T@ (B) T

() <= D) I

T h TS TN o ITTHR, Toh TP & o &9 H HIRIAT I i & [T, Th TsTTdeh
Tl %l S & A foha TSI H Teh TT=IAT I TS ITieh el HTHT ST AT 2

A) T (B) =

(C) duH= (D)

According to the Election Commission of India, in order to be recognized as a
National Party, a political party must be treated a recognized political party
in at least how many states ?

(A) One (B) Four

(C) Five (D) Three

15.

e afe weg @R SRIPE @Re — ‘e @] ST SRR S 12 [P
g ?

(A) =T ST (B) 30 alal4q foers

(C) Tole{leT 6 Cal<Ice] (D) =i 1
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15.

15.

15.

15.

o Srfrerm@ o @it F19 Bfe, “Faie N S SiEig G S ©f oiete 5992 17 2

(A) DI SEM (B) 3l a1%ixd RoeTe

(C) ToleIleTFe CaM=ITeT (D) =i 1R

MR AR FTE3T FaaH, “ISHERT S ST Hi SR 371 o@! A ” 9
(A) TEE ANG (B) T TR foeren

(C) TITeTshsIT et (D) wra fiig

FrefeTfad © | Tohem gl foh “Taaaal 9 TG TR g 3T 38 § ol T ?
(A)  TERIER TG (B) et e foeieh

(C) TIHTS ST TG (D) wia frg

Who amongst the following said, “Freedom is my birth right and I shall have
it” ?

(A) Chandra Sekhar Azad (B) Bal Gangadhar Tilak

(C) Gopal Krishna Gokhale (D) Bhagat Singh

16.

16.

16.

16.

16.

TP TS SIS (OGRS I o 2P 21 =4 *[[1 18 J=ACE TP 791 2 ?

(A) 1986 (B) 1988
(C) 1990 (D) 1992
SIS (SR @EIte Sy T 21 99979 (UG 18 I ! ZARST F© AN 2
(A) 1986 (B) 1988
(C) 1990 (D) 1992

RASTE Hifé ARATEE! A1 ITE™ AFT SISl sar@! 21 SRR 18 Sy -
HISYTTE GHTS JETHH ?

(A) 1986 (B) 1988

(C) 1990 (D) 1992

WA H HAgH o1 TR I i il <[ 3T ! e a9 H 21 99 § TR 18 I9 &
fem e 2

(A) 1986 (B) 1988

(C) 1990 (D) 1992

The minimum age for acquiring voting right in India was reduced from
21 years to 18 years, in the year

(A) 1986 (B) 1988

(C) 1990 (D) 1992
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17. TR IS IR Seq G ST #11 Taite Feed TR ?

(A) 1911 (B) 1913
(C) 1907 (D) 1910
17. ITXTHFR (@I I SRTSA A @GRSl (TS Mace S Ffe?
(A) 1911 (B) 1913
(C) 1907 D) 1910
17. &9 AU fafewrstn araf T gt sashar-wh feeeiard A 2
A) 1911 (B) 1913
(C) 1907 (D) 1910
17. 3 3 forg o v st Tt o6 shictehtal & foeeft TemTate fomam o ?
A) 1911 B) 1913
(C) 1907 D) 1910
17. In which year did the British transfer the capital of India from Calcutta to
Delhi ?
(A) 1911 (B) 1913
(C) 1907 D) 1910
18. ‘TWEAIGR THRIETE I FHHD (I 120 7S ?
A) iz (B) W @5
(C) M5 8.1 D) oS
18. @sIfes R KB SAMETS’ @7 AT (FIAR SRS ?
(A) =i (B) T2 (The Hague)
(C) aIfG e (D) frezxs
18. R fafsranferts e o’ s w1 g ?
(A) Ui (B) T@m
(C) =fiimea (D) =aTh
18. STAUER =TT 1 JEIT hal fRId 8 ?
(A) uRE (B) =
(C) aifiimea (D) =aTh
18. Where is the Headquarters of the International Court of Justice located ?
(A) Paris (B) The Hague
(C) Washington D.C. (D) New York
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19. GG 2T MRS 2T GG T TS ifee ?
(A) R TNAR ATSETS (B) <M 37 “feiTS Aol
(C) RoR SRR TR (D) Rom gwers Auze!
19. = @t @ smewel aret Sz sehe e ?
(&) R oo Reacs iy 41 (B) «ifv *&= Tom frcaaresl
(C) =1l Rl SR (D) o e frare
19. U SARAASTE MERH Fd IR AHEHER AGHH ?
(A) T TR S8 TRATE! AAREERE (B) @I SHARGE! 9=
(C) ToamEEET SIS g (D) T Ee3TTd SEaRATRE! BRI
19. Ucle W # f=ferfaa o @ s @1 e sfirer fomam w2 2
Q) foesh g wlier i wored (B) W&l 9 W Wiaey
(C) YeheH o for Srram™ (D) fereer = w fase
19. Which one of the following steps did the Rowlatt Act incorporate ?
(A) Forced to buy foreign goods (B) Restriction on wearing Khadi
(C) Imprisonment without trial (D) Restriction on travelling abroad
20. TS THS TRIER & IS &= oA q2er TR 1 e o a6 R1ie
emlw P ?
(A) 1985, IF. SRSl (B) 1987, 2% WE2@l
(C) 1989, Fifew [T (D) 1992, AT @ren
20. SRCSA TN PRI I IST GIR FIF /2w A2eT! TRIEH e Fefe 2
(A) 1985, S7. SlfTS! (B) 1987, 9 WETc2@l
(C) 1989, Tifext [t (D) 1992, 3t e
20. yRaf Mttt fafset fifs smesh fearfifet wreen Remsn a9 o feuif gen o am 2
(A) 1985, . WHATY (B) 1987, 3g TR
(C) 1989, Brferm sftsft (D) 1992, 3fcq =i
20. YA % Har AR | fohd od ° 379t ugedt nfgen =mnefs £t fFgfaa & s fora fgea
fepam 2
(A) 1985, IR, VT (B) 1987, 3g e
(C) 1989, wifem sfieft (D) 1992, 3few s
20. In which year did the Supreme Court of India appoint its first woman judge

and whom did it appoint ?
(A) 1985, R. Bhanumathi (B) 1987, Indu Malhotra
(C) 1989, Fatima Beevi (D) 1992, Indira Banerjee
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21. RS (@< w7l F=he@a qiw o] e ?

(A) TR (B) Tiemfs
(C) fac (D) el
21. 90y Sraire Trieslem 0 @I @%heg o vl Si SR[Es 2
(A) ™ (B) G
(C) fac (D) Areal
21. TERI e CHTET LAGYX ST Tl F3TE ¢ 2
A) B gt
(©) fe=t (D) D
21. T=AfcTigd ® & i 4} srergst et o gfaroft 72 W feu g 2
(A) ®) goARA
(C) fewt (D) TS
21. Which of the following river is on the south bank of River Brahmaputra ?
(A) Manas (B) Subansiri
(C) Dikhow (D) Ranganadi
22, frferre yze feoT (I (202 SBRSLT 4 TeAme (" 2
A) fesita eI (B) AT Celtaator
(C) TefRaNS CHieeTIane (D) SA=IG! gl
22. f0H SeaRerE T SIS &bl Serime (5w ?
INIRRERRGIEDIIE (B) THleIsTT (Hg=Isia
(C) Tefzsiie HieetIag (D) SR coatiang
22, RN §6 Y 37 TSR 719 fegaeam g 2
(A)  fem digrater (B) FreitTs TigrETiel
(C) SIS HigHTer (D) TETEI HrgrETer
22, Fraferfga o & #F € ged g Seare 3 R 2
&) e R (B) THTeiiTe e
(C) wimrgrie Rwredd (D) TETEr frbrg
22. Which one amongst the following is the oldest production unit ?
(A) Digboi Refinery (B) Numaligarh Refinery
(C) Bongaigaon Refinery (D) Guwahati Refinery
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23. RS @R e ST SpRE ANE Ges A3es 723 ?
INBEIRIGK] B) P
(C) Mee™™ (D) =R
23. T Staiie &iW et SAPICTR 0 SR SRR =17 2
CNEIRIGIIN: (B) tifsw
(©) frsEN (D) 5T
23, TER o TSSHIAT STHTHS 0T THARIATT 2
(A) ATTIvE B) fafewn
(C) foeiem (D) THTE SITA
23, f=fefaa o | =9 o1 T 31Em & |y Hoy gren TE g ?
(A) TS (B) fTafeerm
(C) Teim (D) ufvem e
23. Which of the following states does not share border with Assam ?
(A) Nagaland (B) Sikkim
(C) Mizoram (D) West Bengal
24. 2022 I G VTS ST Gl e 3372 Tzfeet 2
(A) IS (B) 3=
(C) SR D) @R
24. SRR 2022 0 ST I T (5ol ZCARE ?
A) @ (B) A=
(C) SRFErE D) @R
24, THAR 2022 36 FEAH ¢ @ g AHH ?
(A) STt (B) el
(C) dqHAER (D) 7SI
24, e 2022 T 3TEH 1 hIF AT ST SR 77 o1 2
(A) st (B) e
(C) dqHAER (D) ErTE
24. Which district of Assam was created in January 2022 ?
(A) Bajali (B) Baksa
(C) Tamulpur (D) Hojai
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25. 2021-22 I S TG I 7ifReT Hiaiee 2

(A) T2rs fog =i (B) S&r@l (eal
(C) Srger 7l (D) IS (1R
25. 2021-22 ICF Sl SPTICHR AMTHE (B SEI FCARCE ?
(A) 29 fo =i (B) S&r@l (Teal
(C) =rger 7=l (D) Flre (7
25. 2021-22 UEARN IR JATEWH STl T TARSHN ?
(A) fem= fag ot (B) 3t
(C) FHgA=U (D) TSI
25. 37EM T fohEd 2021-22 =1 et U9 foma ?
(A) fema fava smt (B) AT 43T
(C) 3rgel SN (D) TSt o]
25. Who presented the Budget for 2021-22 in Assam ?
(A) Himanta Biswa Sarma (B) Ajanta Neag
(C) Atul Bora (D) Ranoj Pegu

26. (3 FES GFRRCS! (@I B0 I ?

A) BTN (B) ®F (GRIRYE
(C) BFIJ¥M (D) ©F TG

26. TP OIS BFAA 2Dl TR ?
A) SFATR (B) & (o 7R—RMS
(C) @F M (D) @F IS

26. GNTE TEERIE! TR TR-ET 7 ?
(A) T&TH (B) T o WTETGL
(C) & 3T (D) TR 3

26. TohEe gat O TegT T TITOHT Y ot ?
(A) TS (B) T T wETgt
(C) Te3Te (D) T 3H

26. Who established the Gurudwara at Dhubri ?
(A) Guru Nanak (B) Guru Tegh Bahadur
(C) Guru Angad (D) Guru Arjan
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27. SPTIRI Q@RTERS TG F41 &2 9P SSCTa (e Siifee 2

Q) wRTS AFE (B) TSI wbIS

(C) w8 T (D) Rmire
27. SPTNRI GHDCAY &N Setal @ Reer ?

(A)  SIRTE AP (B) Tl wibIE

(C) =R AP (D) e
27. STTETHIRT AEYAM Fafeq st wregh f gam w1 ?

(A) 313 BIlSH (B) 3133

(C) et~ gifeh (D) foeanv=
27.  FrEfr fhen 4 wgedt wfeet AR % off 2

(A) 35es B (B) 3w amamal

(C) 3ra=i &fcsh (D) frnwe
27. Who was the first female actress of Assamese Cinema ?

(A) Aidew Handique (B) Ebha Ashaw

(C) Abanti Handique (D) Vidya Rao
28. feafetire sz fewas 28weal (UNESCO) Fipe &fo) (g (15! ?

(A)  regEl 77l &l (B) =qlETgh

(©) =l (D) AR AEE T
28. {0 SEfer® Wi @G UNESCO «F afez@iR! 2 ?

(A) @l 77l &/l (B) A0

(©) SR A= (D) =1 FIEH Tyl
28. TERIH T893 UNESCO 1 wIetiiit 39 wis amaf 2

(A) TTel eH g (B) Gaepst

(C) HMRET Af<T (D) HHH TN 3 grmn
28. frmforfiaa & & # weh oo fortraa w2 2

(A) el 7E g (B) garerpia

(C) =TT HigT (D) THE TG 3IGTH
28. Which amongst the following is a UNESCO Heritage site ?

(A) Majuli River Island (B) Sualkuchi

(C) Kamakhya Temple (D) Manas National Park
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29. FifGTe! G SHic FETERS @i et = 76eq 2
(A) TG B) I w1
(C) wiite (D) Heeite
29. G @A (e Fifeane! AGR Sl o et ?
(A) ToETE(G B) I e
(C) it (D) TReie
29. ST BYSR qrehat & e 1 fwmarma e 2
(A) TATER (B) hIfel 37T
(C) == D) wfiemE
29. Hean AP 3 Freferiga o 9 frm fra o i gar g 2
(A) TeTER (B) T IS
(C) =mia (D) AR
29. Kaziranga National Park does not touch which of the following districts ?
(A) Golaghat (B) Karbi Anglong
(C) Nagaon (D) Morigaon
30. PP MG MRS 37 IR GRS (@i o191 hes sTiferge s[igs ?
(A) Rpep Il (B) =78 LIl
(C) eI Alq (D) NS *<FrE
30. MRPTISCR M08! MCRCR 31 A1 BieIRics iw A= ?
(A) R epm ATl (B) =T Sl
(C) &I 4 (D) SN A
30. TreEmR i grerfsTe amE foeiga aui =mie e ari Mot ¢ 2
(A)  forory g T (B) s g
(C) A fix (D) >fiva yeRtea
30, foranT 35 T fehye 3w AT § fme e e d
(A) oy ST T (B) THTCS SHTHI
(C) 3F=H IR (D) sfimd Rt ea
30. Whose resting place is at Saraguri Chapori at Dikhowmukh, near Sibsagar ?
(A) Bishnu Prasad Rabha (B) Swargadeo Sukapha
(C) Ajan Pir (D) Srimanta Sankardev
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31. Foraferfre RIeE!, SoCoRE @ o “Aafb feegs 72 2

A) TIe'H-11 (B) s
(C) T =g =D (D) TI%

31. A (PTG FI5CHITTd AT “Ffs 74 2
(A) T 11 (B) forers
(C) WRCFPTE wRe D) TI%

31. TR e HNEIAT HEH FARFE e 721 ?
A) feEw 11 (B) formmem
(C) HTSshiaTR %Y (D) 9%

31. T H & 1 &1 oyt o foru sATfen freen i @ 2
A) fo= 11 (B) ferem
(C) wrgshIEITE HATMHE (D) 3ug

31. Which of the following is not an operating system for Computers ?
(A) Windows 11 (B) Linux
(C) Microsoft Office (D) Ubuntu

32. TS =g (AR TE TS SIS FCH05 BT 5 =bice! Kbl a1 = 2

(A) el (B) =l <
(C) o (D) T

32. MG SA® @FRILE TEA S0 SAES [ZIETER I e RO 519 a1 2 2
(A) FigTere| (B) =l (<
(C) <IWB D) =t

32. TEEN q&311 AR YA sfia fearerf ey e sy 2
(A) S (B) T=rcE
(C) HMd (D) @

32. Tmfcfiga o @ forg adam o vra 1 ae@ 3= feae R g smar e 2
(A) e (B) Tarcd
(C) Hme (D) |

32. Which of the following is presently considered as the highest Himalayan
peak of India ?
(A) Kanchenjunga (B) Nanda Devi
(C) Kamet (D) Mana
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33. SIS STOIPIYTS (5! Tlefdq 5w @iem ?
A 4 B) 5
C) 6 D) 7
33. ST AORPICS GG T I (rings) SR ?
A 4 B) 5
€) 6 D) 7
33. AT TRthaTTaTTa Aied s § 2
A 4 B) 5
€) 6 D) 7
33. 3icIoieh €l § feha Toel 8Id & ?
A 4 B) 5
C) 6 D) 7
33. How many rings are there on the Olympics flag ?
A4 4 B) 5
C) 6 D) 7
34. TSGR I 52 2 :
(A) FET= @R (B) BN
(C) Tt (D) for
34. SCSGAR el =12g 29 :
(A) IJFPT QT (Buenos Aires) (B) GIFGEIeN (Santiago)
(C) <91l (Bogota) (D) ™I (Lima)
34. ISUEHTH TSTeTa TRTRHRT 7 7
(A) = 37 (B) dfeam
(C) st (D) formn
34, IRISHT BT TS TR
() = s (B) dfeam
(C) e D) e
34. The capital city of Argentina is
(A) Buenos Aires (B) Santiago
(C) Bogota (D) Lima
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35. A QoA I3 P F'© LS ;

A) TR (B) FEETN7LS
(C) wIibl (D) @&

35. IR AR S N 2
A) TR (B) T AR
(C) wIrst (D) IFT

35. TR TRy MEE e’ I EE g v
A) HH=TE (B) FHIATATTTHL
(C) bt (D) seih

35. TRURRIHIgEEE 6|
A) g3 (B) eI
(C) STeprat (D) ik

35. Air Asia has its headquarters in
(A) Mumbai (B) Kuala Lumpur
(C) dJakarta (D) Bangkok

36. RS Hiv G AR IR TZ 21T 79127 2

(A)  EIAIRNGR (B) WEINGH
(C) wFBHGR (D) REIRGE
36. RS BI*l A S (T TG JITS = 2
(A) TIAIRGR (B) IARGE
(C) wFBRGRH (D) RFIHEGE
36. T I FEFET ARATEG! AT ?
(A) AR (B) SO
(C) Ve (D) T
36. STIHSTHIT TG I AU o ToTu fohe Suehtor 1 Iu=i fohan Siran @ 2
(A) "t (B) s
(C) 3T (D) EEgHie
36. Which instrument is used to measure atmospheric pressure ?
(A) Nanometer (B) Barometer
(C) Altimeter (D) Hydrometer
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37. TAI-CI (XeT (B oo sy svm3, (IS @G| i< Sl1gd O IfE A 2
A) @ (B) e
(C) & (D) e
37. TI-C4 (IAITS SIT! 41 (o TS &l T 0O & 0 2 (1T 367 2
A) =6 (B) W=
(C) ¥ (D) e
37. @@l ToHTd ST EFSTH Jed FRHTET SIUHE g6 TR Ma- gFgsi {2
(A) <A B) 5
© 1 (D) =
37. WI-W % @ H, Js1 H arefl I  fohdd 9 AgH § Yo Sid g 3 HeH! o 96 93d 8 ?
A) 8 (B) <&
(C) = (D) ¥
37. In a game of Kho Kho, how many members of chasing team enters the field
and sit on their knees ?
(A) Eight (B) Ten
(C) Nine (D) Seven
38. TN TR Gorsz Wt ermielaer fqeadll sTore aiall i 1 a9 ¢iee e i
fet ool 1 27 ?
(A) SERA (B) SeIpleTl
(C) =l (D) *row
38. eSS (2R, Gs1RRm) fqrE@dl T @ Rl warse il B 3R TR I7ACH
ffere 2@ ?
(A) SERA (B) &Il
(C) =l (D) *row
38. WATRIS (AT JTeTgareH Sam) M Gef S T ST S CHrei | ST
gt e (w1 gan a2
(A)  yrfRed (B) 3TetehH=gT
(C) Tr@fd (D) wdg
38. WIS % Frauft @ (qd | setrerane i ) 4 fohe dfires syftnTa ¢t ot T 3R AT A
Torem gom W ST 8 2
(A) el (B) ARG
(C) wwrdt (D) g
38. Which mythical underground river is considered to have joined Ganga and

Yamuna at Triveni Sangam of Prayagraj (formerly Prayag of Allahabad) ?
(A) Bhagirathi (B) Alakananda
(C) Saraswati (D) Satadru
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39. FEETRS @FMRET (@FE0 9T (Sl 23 ?
(A) SR (B) W% biersl
(C) =&« (D) oM
39. I SEfs @M FICIE Tio 27 2
(A) BIETE 7Y (B) Wtad B
(C) wRFdlg (D) el
39. TEMH Se@! e S AT J ?
A) et asiy (B) TISER &g
(C) Hw (hH) D) &1
39. ffarfaga o @ ford e o AT AT B 2
A) Hah s (B) g =T
(C) &= (D) G
39. Which of the following is measured in Carats ?
(A) Steel rod (B) Milk fat
(C) Saffron (D) Gold
40. THEFTE ! AR T e f$fe I JfiFpe Sie Fuiker e Anf
R ?
(A)  CAfTET w1 (B) e =
(C) T&esie (D) &= e
40. GRITIR (fossil) T3 fefie T RS SR o2 @i SR =14t 721 3 2
(A) GRS (Palaeontology) (B) &g9% (Archaeology)
(C) 9% (Geology) D) ?ﬁ"iﬁm (Geomorphology)
40. SeTEE! fer W AT A faf SRS se e e A g 2
(A)  UAtIT=TCAS S EEIEICINE
(C) ShaTrerst (D) SATHRBIATS
40. 3T I D H IATET SAATLH] o TR T g T S o 3hige 8 qafad @ ?
(A) Sfamen fagm (B) W fomm
(C) o wre (D) Y-3mhid form
40. Which branch of study deals with the history of life on Earth as based on

fossils ?
(A) Palaeontology (B) Archaeology
(C) Geology (D) Geomorphology
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41. TIF [F e Glrarm e Sy S ?
(A) RGN Fwlm (B) TR TE
(C)  9oTIG T2BI2A (D) &' @
41. T BRI &) FFS TR FCRCE ?
(A) WGRE TR (B) I A
(C) STAIG SZHIRA (D) & @E
41. R AUTHE UrEw HIed (Codes) @t fegsm @ 2
(A) ST Shehferd (B) T3 A
(C) 3ATes AT (D) < eTS
41, U o fTC hig 1 ITTahR fohe foka 2
(A) ST Shehfer (B) gzt o
(C) 3Heae FATFTEHA (D) S
41. Who invented the codes for Telegraph ?
(A) Benjamin Franklin (B) Samuel Morse
(C) Albert Einstein (D) John Baird
42. IFHE 2 7RCS T (NEFA) TR Seerrs Siifze | NEFA 3 <J4ith! (2% -
(A) North-East Frontier Area (B) North-East Frontier Assembly
(C) North-East Frontier Activity (D) North-East Frontier Agency
42. SFODST IO 704 N NEFA 9 54 1 1 2
(A) North-East Frontier Area (B) North-East Frontier Assembly
(C) North-East Frontier Activity (D) North-East Frontier Agency
42, ITTETE STEUTEA Jeu@! e NEFA 1 31 stifersm = 2
(A) North-East Frontier Area (B) North-East Frontier Assembly
(C) North-East Frontier Activity (D) North-East Frontier Agency
42. NEFA &1 0 €9 R 2 — 97 foh STE0MT=Ial Y91 bl Tget STHT ST T 2
(A) North-East Frontier Area (B) North-East Frontier Assembly
(C) North-East Frontier Activity (D) North-East Frontier Agency
42. What is the full form of NEFA — as Arunachal Pradesh was known earlier ?
(A) North-East Frontier Area (B) North-East Frontier Assembly
(C) North-East Frontier Activity (D) North-East Frontier Agency
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43. frfeiie @Ry e el 72 ?
A) g (B) e s
(C) T-ar=fa (D) ZLEH A
43. T SEiie @i SRres 2E 77 ?
(A)  TRresiife (B) 9T TGS TGK
(C) ez (D) foeIarg
43. TEREM F931 WA ST SRR 78T ?
INEREEIE (B) T T TR
(C) 371 93fa (D) <@l
43. freferfaa & & 9 wid 1 e forameh 72 & 2
NEREEIE]] (B) U i et et
(C) Towfi gt (D) dg3n
43. Which of the following is not native to India ?
(A) Chimpanzee (B) One Horned Rhino
(C) Pygmy Hog (D) Leopard
44, IRPIFE @R SRR SRS B IF @AY 2
(A) wawle (B) 30z
(C) wize (D)
44. RIRATCE @D SRS SN 5l ?
A TmiE (B) E
(C) (D)
44, YA FEUR gHIAT 11 ?
(A) TES® (B) 94 (Banyan tree)
(C) wifa (D) i
44. 3NTYERTRER TR T WRA 1 TET 98 HH A1 2
(A) TIER (B) =TT
(C) diuat (D) =
44. Which is officially the National tree of India ?
(A) Deodar (B) Banyan
(C) Peepal (D) Neem
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45. TG (alleil @RS ST Sl TCo! < :

(A) TR (B) SFHS |
(C) TIMIF (BRI (D) o ffre!
45. i sig @S (Agnes Gonxha Bejaxhui) @ Soi&FSIE Siel I :
A) TREE (B) S AW
(C) =M= Gl (D) FPoIF facafrel
45. TR SRS R e et o aife il 2
A) froes (B) 3re-ufd 1
(C) HTeR <& (D) fereer fsfe
45. T8 T Q TH T SIS T I ARSI € H AT AT & -
(A) e (B) 3uld U
(C) wex e (D) et ffea
45. Agnes Gonxha Bejaxhui has been more popularly known as
(A) Miraben (B) Arundhati Roy
(C) Mother Teresa (D) Sister Nivedita
46. (T TR :
(A) BTG ETER T (B) g 72 751a1 IR

(C) B A2 @RI @1 [BEFT (D) A2 IR
46. (ZIv 257 :
(A) HRPArFGF @Te 97 (Interstellar laser weapons)
(B) 4ite 1{7’3 W (Night vision binoculors)
(C) SIS BTl qiew =% W T4 (Crawling land mine detectors)
(D) Wﬁ%ﬂ PRI (Unmanned ariel vehicles)
46. T AT IEE

(A) ITEAR AR U (B) TS AT gl

(C) HHEREAT UT g HIgT SRITIT (D) HHTY TRER SRR TS
46. 3 E:

(A) T AR RN (B) Tse fosH g

(C) ferredt 3 wrga feearet (D) =TE e galTg e
46. Drones are

(A) Interstellar laser weapons (B) Night vision binoculors

(C) Crawling land mine detectors (D) Unmanned ariel vehicles
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47. e SR 4l @RI F63e (K30a Sifee ?
(A)  ToERIGE B (B) IRFTH
©) ToRR D) Ryl
47. 0 SERSTR W & o9 (RTINS ?
(A)  ToERIGA AR (B) IR AR
(©) SEEr (D) fg 3w
47. TG BINETE TR TS S TAuTH= 2
(A) fireardas ammm (B) N3 T
(C) dms=w (D) foyweam
47. frefafed 9= 9 9, T peate Raent = a1 ?
(A) firesde g (B) ®w T
(C) dag=a (D) g s
47. In the following list, who was a football player ?
(A) Gilbertson Sangma (B) Carfew Roy
(C) Tayebunnesa (D) Mithu Baruah
48. THRIRS (S SO JS: (TS /1w F1 2T ?
(A) @ (B) <IN
(C) TR (D) =S
48. TG (@ TR i @IS TR 1 2 2
(A) Aiafer (B) &I
(C) i (D) =i
48. TEAM 99 THE BRERE! i GIferEr ?
(A) et (B) 3™
(C) it (D) e
48. Tr=fftad 3 | 1 €1 ER 47 ®9 9 Hiel § 7R IR 2
(A)  Tearet (B) 3vm
(C) dfTe (D) wEd
48. Which of the following festival is mainly celebrated in Kerala ?
(A) Diwali (B) Onam
(C) Pongal (D) Lohri
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49. R 9N @I @RS T2 Shers Sifowy Ffafee 2
CNERERIZRZET) (B) i ST
(C) T =R (D) 5= gt
49. T SAM6Ca G aftsf eie <79 Siieg SIfemy FeafeeEr ?
(A) T BRI (B) o= M
(©) firsm a2 (D) foem T
49. 9 HELYATE e TEI MR BIERTR ATGIHH ?
(A) T s (B) o= iR
(C) frem =g (D) T rget
49. g fhen o 1oy ya= yfteer efia mi g fers g oft 2
INIRCHERCIER] (B) fiem Fofit
(C) firm = (D) forer shreget
49. The male lead role in which movie was played by Zubeen Garg ?
(A) Mission China (B) Mission Kashmir
(C) Mission Chennai (D) Mission Kabul
50. 1B (UES Rpolsie IC ferrafeet ?
(A) 9., (B) .34, TRTA
(C) €GP IR (D) 4.GP. “lfgs
50. ‘Malgudi Days’ 226 & feTcfae™ ?
(A) TGP, T (B) .94, TRl
(C) IR.GF. TFFA (D) R.. s
50. HOTE! S fosmemat | fermE 2
(A) 3TN, THTAI (B) . 3R, AR
(C) 3., TEHT (D) 3TR.%. ufed
50. TSI S5 <hl TaAT fohar i oft 2
(A) .. A& (B) .3TR. TRREVH
(C) 3., T (D) 3AR.%. ufsd
50. Who wrote the book ‘Malgudi Days’ ?
(A) R.K. Laxman (B) K.R. Narayanan
(C) R.K. Narayan (D) R.K. Pandit
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51. @IS oz (?) e oyt 32 ifer 2

14
22
34
41
53 ?
A) 14 (B) 55
© 15 D) 45
51. @M fbrEd (7) SReIR ie )41 107 2
14
22
34
41
53 ?
A) 14 (B) 55
©) 15 (D) 45
51. Hic] g 59 SHNHTST AT g1 2
14
22
34
41
53 ?
(A) 14 B) 55
©) 15 D) 45
SPACE FOR ROUGH WORK
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51. e & (?) & TIM W ohi= Hi Tt A1 =i ?

14
22
34
41
53 ?

A) 14 B) 55
©) 15 (D) 45
51. What number should replace the question mark (?) ?

14
22
34
41
53 ?
A) 14 B) 55
©) 15 (D) 45

52. BROTHER, HUSBAND, MEN
@2 XA} TR T 554 e ARfboei afsfig a1 foain! bre it |

A) (B)

©) D)

SPACE FOR ROUGH WORK
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52. TG (STl MG T AP TFHeF @i A A SieTeid afsfirg 3@ ©f

52.

52.

foize F@l

2, R, T
A) (B)
©) D)

TERTE BT ATETGRI ToRTE AT HHGRE 55 %3 e BIHTRITT e sy ?

A) (B)

©) (D)

3 3G <hl T8 o S feU T It o s G 1 G837 Y ieed shidl g :
WTg, dfd, ey

(A) (B)
©) D)
SPACE FOR ROUGH WORK
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52.

Identify the diagram that best represents the relationship among the given

classes :

BROTHER, HUSBAND, MEN

A) (B)

©) D)

53.

53.

53.

53.

53.

I 1 5l SI1<E 50 “I35 RFgT @l 2 ¢ 3 Teeiio® 5 T 35 A tafeet | 37 50 “25H
@I AL (20 :

(A) 20 (B) 25
(C) 30 (D) 35
IR 1 Il 2R 50 “RPIIE 4l 2 1 3 SIS 35 GBI &1 FCACR | 50 IR TG F2] 2T
(A) 20 (B) 25
(C) 30 (D) 35
UTEY R 50 HETST 2 : 3 & TSl T 371 T 35 T gAY | 50 HAHGTH SFARTHRN o9& ?
(A) 20 (B) 25
(C) 30 (D) 35

M 3 1 59 % foeehi 3 50 90 & fieehi & 2 : 3 % U A T 35 Tufed fham | 50 W
ﬁaﬁaﬁm%

(A) 20 (B) 25

() 30 D) 35

Shyam stored ¥ 35 in the form of 1 rupee coin and 50 paise coins in the ratio
2 : 3. The number of 50 paise coins are :

A) 20 B) 25

(C) 30 (D) 35

SPACE FOR ROUGH WORK
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54. MG “[3b@2 Wbl @FPANR @I @ T IR A [eifere qivre iz | foanre
Tax 493 313 I &I I :

Fig. : Expenditure (in Lakhs)

(A) 90° (B) 45°
©) 172° (D) 81°
54. I Saiie 36 oat @3l efesitT IRT JE 02 e e I | FEF Jel¥ Sire
S[TEL P! (PIC I
ofe i Tl
fou : 495 (o7F)
(A) 90° (B) 45°
©) 172° (D) 81°
SPACE FOR ROUGH WORK
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54. UT TN ST A HETHET AN SeErg! fofRAm Sem | @ T (Tax) @greT 9™
I @A A3 Y 7

| : G (A1 3719)
(A) 90° (B) 45°
(C) 72° (D) 81°
54. U8 =T Topdlt feu u o & fofu fopeft ot o =g =1 foeor fe@mar 8 | 2 (Tax) @ g0
AN PR

Fig. : & (/@ o)

(A) 90° (B) 45°
©) 72° (D) 81°
SPACE FOR ROUGH WORK
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54. The pie chart shows the expenditure breakup of a company for a given year.

The angle subtended by the Tax segment is

Fig. : Expenditure (in Lakhs)
(A) 90° (B) 45°

(C) 720 (D) 81°

55. To@q *RUAIG! SRGIZ 7= A Toige Haeh! fo=ifoa 1 -

A) (B)

©) D)

SPACE FOR ROUGH WORK
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55. TG g fo5e 03 og T = T -

A) (B)

©) D)

55. T BINE! ATRAE e for et @ g 7

(A) (B)

©) (D)

55. 3TTRId AT S TG oh ToTT IR ST T =5 h :

(A) (B)

©) (D)

SPACE FOR ROUGH WORK
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55. Select the appropriate figure to continue the figure series.
A) (B)
(©) D)
56. W+ @ QN 4+ @ R, = @[T &F * @ 29 2l &R, (o0
18 +12 x4 — 5N (&2 :
A) 25 (B) 35
(C) 40 (D) 33
56. M+ W TP W, + A AT =, < A @ W R K A Sl = O&
18+12x4 -5 a3V 3J:
A 25 (B) 35
(C) 40 (D) 33
56. Jfg <+ 3T TR, 4+ 3 THETR, — N THSIETE W % 3 TR BRA
18+12 x4 —5fgmram ?
(A) 25 (B) 35
(C) 40 (D) 33
56. dfg ‘' &1 Fd 7 TR, + H1 37 gern, < H 37 MO I % w1 A 9WT 7, @
18+ 12 x4 —5HI A3
(A) 25 (B) 35
(C) 40 (D) 33
56. If ‘<’ means ‘addition’, ‘+’ means ‘subtraction’, ‘" means ‘multiplication’ and
‘x’ means ‘division’, then the value of 18 + 12 x 4 — 5 1is
(A) 25 (B) 35
(C) 40 (D) 33
SPACE FOR ROUGH WORK
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57. 7,11,19,31, . 67 TGN & Zea JRAH! (2R :
(A) 43 (B) 47
(C) 51 (D) 45
57. e Seefre b =1 : 7, 11, 19,81, 67
(A) 43 (B) 47
(C) 51 (D) 45
57. 7,11,19,31, 67 %I 3@ MHHEM fagaft o 1R |
(A) 43 (B) 47
(C) 51 (D) 45
57. FATHE7,11,19,31,_ 67 HJWUSE
(A) 43 (B) 47
(C) 51 (D) 45
57. The missing term in the sequence 7, 11,19,31, _ 67 1s
(A) 43 (B) 47
(C) 51 (D) 45
58. A F 4G A (27 Q, AT BI GG 7 | F«2TS B J *[4l (2% P I G« &F P J
GG %@ (2R R | R JM&e Q T CICS (&G 40 796 2
@) *P[ (B) I
©) ™ D) frg
58. Q T A 9 O @, @ B €3 4I91Q %@ | B @7 &I 2e1 P &3 F31, TIF 4G %@ R |
R eI Q 97 0% 75 ?
(A) *®F (B) ==t
©€) =« (D) forel
58. Q3 AN um & fomme s Sgs@ B 1 a@er fharsen | B T fofe a3 P f e
gt gEe’ fRaten R | ek R 81 Q S Sl ottt ?
A fogE (B) fow
(C) ThaTen (D) TowT
SPACE FOR ROUGH WORK
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58. Q, A <l 3heild! 581 &, ST B o1 Sshailal siaT & | B sl ueit P <h1 91 8, fSrdept upam e 8
R | R, Q &1 &1 a1 & ?
A) w9t (B) == (37he1)
©) s (D) o

58. Q is the only sister of A, who is the only son of B. B’s wife is the daughter of
P, who has only one son R. How is R related to Q ?
(A) Father-in-law (B) Uncle
(C) Son (D) Father

59. TSN &' G5! XS A ISTFER 2[l 7-T BTS AT & G [l 12-97
F[TS SR | AW (S ST GRS A1 EW el 1, (508 1 ST *[/f 22-5
F[TS AE | MBS JOTS e o1 71 S0z ?
(A 19 (B) 31
(C) 33 (D) 34

59. fEa @ECR TG§ AN I (AT 7 OF B0 GR &0 TEAWS (A 12 OF BT
(g | A SR SR 2 ARSI ©F Akt A 7 CF 22 OF B0 A | Ao
I Fo& (R0 SR ?
(A 19 (B) 31
(C) 33 (D) 34

59. B B AFE ATR3TE, i1 31 ATEFwRE 7 7 31 e/ AR Ifem 341 3ATTer-hr
12 1 31ma <Ha | i s8R Tt grat Sremremear, S o1 smite 22 ¥ e
UTEAT | & TN Y BEAHTHR € ?
(A 19 (B) 31
(C) 33 (D) 34

59. IS h! T Ufed |, i1 a1 T TIde 3R J&9 g & 129 W W 2 | I I 3941 T
39 1 9 oid 2, a1 21 918 @ 224 T W 3T A4 @ | Uferd | feped g & 2
(A 19 (B) 31
(C) 33 (D) 34

SPACE FOR ROUGH WORK
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59. In a row of boys, Srinath is 7th from left and Prabin is 12tk from right. If they
interchange their positions, Srinath becomes 22nd from the left. How many
boys are there in the row ?

@A) 19 (B) 31
(C) 33 (D) 34

60. W72 96=6927,58 87T=T8852, TSV 79 86="7

(A) 7689 (B) 8976
(C) 6897 (D) 6978
60. IW 72 96=6927,58 87=7885 SE79 86=72
(A) 7689 (B) 8976
(C) 6897 D) 6978
60. SfG72 96=6927,58 87 ="7885 AT T9 86="7?
(A) 7689 (B) 8976
(C) 6897 D) 6978
60. IC72 96=6927,58 87=17885AT9 86="7
(A) 7689 (B) 8976
(C) 6897 (D) 6978
60. If72 96=6927,58 87=17885,then79 86=72
(A) 7689 (B) 8976
(C) 6897 D) 6978

61. 4,000 JELT ISP T[S 12% I OO 18 2T 7S (2R :

(A) %216 (B) % 720
(C) %360 (D) %960

61. T 4,000 BIFE ToR 12% IR 2T 18 AT 61 FeT 77
(A) %216 (B) % 720
(C) %360 (D) %960
SPACE FOR ROUGH WORK
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61. S@IGl SERIN 12 T ER T 4,000.00 F gH 18 37 TNt g 98 ST ?
A) T216 (B) T 720
(C) %360 (D) %960
61. 4,000 W 18 &N T 12% et o bl et & il e sar 2
A) T216 (B) 720
(C) %360 (D) % 960
61. The simple interest earned by ¥ 4,000 in 18 months at 12% per annum is
A) T216 (B) T 720
(C) %360 (D) %960
62. I @F MRAF 893 (F T3¢ FICE ST 193 (AT I | 6! RAF 47 @ 2]¢

62.

62.

62.

62.

FRCE Nt ST (=R

A 3 B) 25

<) 5 (D) 33

@I @3 RANE 893 =R Slol T ST 193 ATF | (12 R 47 711 Sl
T SR A

A 3 B) 25

) 5 (D) 33

oA SHRETE! 893 ST s Mg UTATST 193 | F T 3ARHME 47 S THIsAT 378
YT S8 ST ?

A 3 B) 25

) 5 (D) 33

TS e T 1 893 | Tawfora o Sar 2 1 9w 193 e g § | 3¢ 5w & 47 @
Torfora 0 w3y g

A 3 B) 25

<) 5 (D) 33

When a number is divided by 893 the remainder is 193. If the same number
1s divided by 47, the remainder will be :

A 3 B) 25

) 5 (D) 33

SPACE FOR ROUGH WORK
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63.

63.

63.

63.

63.

I @ AFIFR &2[ @ GIRCE _KF 12:30 IHF 10 WG S cerwioze
2T | IR SR @587 20 G S termiozs e Fifee | «v.f3.
SR ARSI s et 30 ffelb “eraes =nfafee | Armiea Frifes STt
KIEGE

(A) 12:50 I&I (B) 12:40 i

(C) 12:00 I=i (D) 12:10 I&i

ORI AFPITR WS &) M 961 12:30 qoPR 10 WG+t 2t e |
IR .58, 7 =F 20 WG =I10sl CMteezs | .18, ARFIFR @R e 1 TR
(I 30 [ (AT CTiteted | STFFIRTR (TSR 7T et

(A)  12:50 96 (B) 12:40 96t

(C) 12:00 96 (D) 12:10 96

3] GHI AR o7 vafe 8 37/@ 12:30 ST 10 fire & gmen. wafe. 7w 20 e
e mfafift s gy | w.fe. an Serey fr g & @A wEteE 30 fie e
Qe | 3oty T arEm forare AT sman 91 9  ?

(A) 12:50 et (B) 12:40 Tt

(C) 12:00 fe=T (D) 12:10 Tt

LT, FTETTehT hd o fIT 12:30 91 A 10 e gt 8fct § Ja9r a1 @ | 9@ ML.D. &
20 e Tget 3TEX 3T AT | AThR o TH o IFER M.D. 30 fire <t 9 ug= | anefiehr
o1 Tenfa oo o

(A) 12:50 & (B) 12:40 s

(C) 12:00 s D) 12:10 s

The Chairman enters the Assembly Hall 10 min before 12:30 hours to
conduct the interview. The Chairman was 20 min earlier than the MD. The
MD was 30 min late as per time fixed for the interview. The time fixed for the
interview was :

(A) 12:50 hours (B) 12:40 hours
(C) 12:00 hours (D) 12:10 hours
SPACE FOR ROUGH WORK
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64. 2,6,18, 54, ...... G SEN IR 20
(A) 4370 (B) 4374
(C) 7443 (D) 7434
64. 2,6,18, 54, ...... G wEy ARG
(A) 4370 (B) 4374
(C) 7443 (D) 7434
64. 2,6,18, 54, ...... BTN A 8 1 forgream e
(A) 4370 (B) 4374
(C) 7443 (D) 7434
64. 3T 2, 6, 18, 54, ...... %1 ST ¢ 8
(A) 4370 (B) 4374
(C) 7443 (D) 7434
64. The 8th term of the sequence 2, 6, 18, 54, ...... 1S
(A) 4370 (B) 4374
(C) 7443 (D) 7434
65. TR 70! 4T, (R GO’ MANSE TN 20% SF 50% Ted | R4 {6 IS
ey
A 2:5 B) 3:5
(C) 4:5 D) 7:5
65. (PICT 725 AR GO MR2T (AT TAFCH 20% €3R 50% @ | 747 7367 St -
A 2:5 B) 3:5
C) 4:5 D) 7:5
65. T SHISHT AT B UMY SFRTHBR 20% 3R 50% SR | § SFNET THAN T218 31
5g ?
A 2:5 B) 3:5
C) 4:5 D) 7:5
SPACE FOR ROUGH WORK
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65. T AT U el T8 B HES: 20% 3R 50% 317k &, G T3t s T & -
A 2:5 B) 3:5
C) 4:5 D) 7:5

65. Two numbers are respectively 20% and 50% more than a third number. The
ratio of the two numbers is
A 2:5 B) 3:5
(C 4:5 M) 7:5

66. 10 R[S e A @3« RPRTS qom FrHE PR 229 FE ST 0! A0 25 =]
RO S GG T RS @ISR B | FeTFace] Fs 7101 9IS 7 3 7P 77 |
TP 212 91 R Srerd T (AR
(A) b5549=9 (B) 65d%1
(C) 583=F (D) 60 =

66. G0 F(E 10 & FEFS ITRA | GFE SO &2¢ FCACRA G SRBIE 25 I R
GG Tge RS @I PR | ToTahel PIEpSe 9T I 3 0T BT <RI | ST
et MrFEa T 29
(A) 5539 (B) 65 I
(C) 583IV™ D) 603IVF

66. @1 S BRIFTR T 78 U=t 3TmE, 918 3SR AR 3T A &l 25 SR S T
BRI s | feam wfed, B wrfy s9fy e 31 3 S @HrEeTeT | 3
A BRIATRE SEi3m 98 7
(A) 55 9ER (B) 65 9mER
(C) 58mER (D) 60 STER

66. 10 Trere aTel Tpat |, T f1erh o1 HaTgd T gia 25 9 ohi 3T 1 Teh 1o Fregen Frgea
B RN | aRTTTeEEd, et 1 e 31 3 81 TS | HaTga et il g R
(A) 5599 (B) 6599
(C) 58aY (D) 60 9%

SPACE FOR ROUGH WORK
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66.

In a school with 10 teachers, one retires and immediately a new teacher of
age 25 years joins. As a result, the average age of the teacher reduces by 3.
The age of the retired teacher is

(A) 55 years (B) 65 years
(C) 58 years (D) 60 years
67. 720 M R 21 g¥=1 Rplere &1'ql S (@I R S 7 : 5 | SATSCH!
1: 12 Soe I a1 @RER AeiS 27 #1172
(A) 60 (B) 120
(C) 180 (D) 240
67. 720 S [ AP GG F0oT (REE G2 TR ST 261 7 2 5 | (R(e @ (IR Siio 1
1 20O 20 RS o6 (0 S 300 23 ?
(A) 60 (B) 120
(C) 180 (D) 240
67. | 720 HUTEAFTHT TH HIFANAE BE™ET AR Tead- SANHIN SuT8 37 e
7:5 | AU 1 : 1 THIecT, Ao Tetreamn g fReasmnm= 2
(A) 60 (B) 120
(C) 180 (D) 240
67. 720 BT % Teh Thel H TSI TR TSI <l HEATHI I 7: 58 | A 1 : 1 M
foru 37 fepaft ereferat w1 wermr fezm s =few 2
(A) 60 (B) 120
(C) 180 (D) 240
67. The ratio of the number of boys and girls in a school of 720 students is 7 : 5.
How many more girls should be admitted to make the ratio1:1?
(A) 60 (B) 120
(C) 180 (D) 240
68. 120 &< Tqq GBI FERPTS 45 F=< AW TS MR | I RIGRPTS Tgel(? 30 & 2a2
QIS A, (S0 TGS MG RIQRPICH! eI el Bfeta #fife 2
(A) 40 = (B) 38 W=
(C) 36 (D) 32f™
SPACE FOR ROUGH WORK
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68. G QARG 120 T B (2 IR 45 el €T YR 32 F91 2R | W SRS 30 &
2/q RERICT @191 0 SR RG] TS A LRI T Hod 2
(A) 40 (B) 38fm™
(C) 36 (D) 32f™

68. T8 &I 37T HT 120 I § 3N ER 37 M 45 1 om@m™ g | Jfe o gxied STREE
T 30 HUITETHT ATHAT, AT A SRS o FEISAT G FlfeA=1 T 2
(A) EH 40 (B) 9 38
(C) 49mH 36 (D) 49 32

68. TH BHETETH A 120 B 8 3R oM 61 37 45 fei = faw 2 | 3vR 30 3R o SEE™ §
IS B T, A HIS[ET WIS | SEmad foha- e e 2
(A) 40 fe B) 38fe
(C) 36fe= D) 32f@

68. A hostel has 120 students and food supplies are for 45 days. If 30 more
students joined the hostel, then how many days the hostel will run with the
existing food ?

(A) 40 days (B) 38 days
(C) 36 days (D) 32 days

69. 20 fi. T¥eT GO Geel G2 Sorx (MRRTS STl (AR SR | S¥EeicE Mba ¢irs 30°
Tl B SR, | GLEATTIE (RIS i 1 KBTSl 2z :

A) 10f. (B) 17.32 .
(C) 8.16 1. (D) 13T

69. 20 5™ T @b M2 (ladder) T (vertical) SER APl G5 (RS JTF S |
W25 SR T 41 IR Tt 30° | W2f67 et =i a1 Kegfoa Tv -

A) 10f% (B) 17.32 3
(C) 8.16 13 (D) 13T

69. TE MU TR 3@ 20 . FRUEH Jer=n FHEH § | o= g 30° @ @ |
AT A 3T BN formarta Siamssn o ?

A) 10fm. (B) 17.32fa.
(C) 8.16fm. (D) 13f.
SPACE FOR ROUGH WORK

SLRC-2022/P-IV/D 48



69.

69.

Th 20 Hiet et €It Th Heate GIar W Fehl T3 & | I8 THH o a1 30° T hI0T ST 2 |

ST % IR I i 9T foig hl HaTs @
(A) 104 (B) 17.32 .
(C) 8.164. (D) 13Tt

A 20 m long ladder is leaning on a vertical wall. It makes an angle of 30°
with the ground. The height of the point the ladder touches wall is

(A) 10m (B) 17.32m
(C) 8.16m (D) 13m

70.

70.

70.

70.

70.

GBI 521 1000 I YCIICS Sho 791 7% (2= 22 5.1, | SRR JPig 2 -

A) 4.5 (B) 2.1%.
(C) 2.8f. (D) 3.50.
G5 51T 1000 WG 22 [Fefiie g Sfod o | HRAfGA 7Y
(A) 4.5 (B) 2.1
(C) 2.8 (D) 3.5

HHY gr@rT @9 1000 fifeam e 22 for. 1. ST eeer | § 9rale @'9e grgl 31
Sicie)

A) 4.5 B) 2.1fu.

(C) 2.8M D) 3.5

T ufedn 1000 =Rt § 22 fop .. i gt 7 o Fehat 2 | fed 1 Brsam (Radius) 2

(A) 4.5, (B) 2.1

(C) 2.84l. (D) 3.5

A wheel can cover a distance of 22 km in 1000 rounds. The radius of the
wheel 1s

(A) 45m B) 2.1m

(C) 2.8m D) 3.56m

SPACE FOR ROUGH WORK

SLRC-2022/P-IV/D 49 P.T.O.



Q. 71-80 : Read the passage carefully and answer the questions given below :

At last the bomb was made. The site chosen for the test explosion was the
desert region north of Almogordo, two hundred miles from Los Alamos. The
bomb was taken by road and placed on a gaunt tower, one hundred feet high
and weighing thirty-two tons, erected on the top of a hill. The code name for

1t was Zero Hill. Zero hour was 5:30 a.m. on Monday, July 16, 1945.

Oppenheimer himself was at the control centre about nine miles from
Zero Hill. There were a thousand spectators including scientists, government
officials and a strong security force. All not on duty were told to lie down flat,

face and eyes directed towards the ground and with the head away from zero.

At forty-five seconds to zero hour Dr. Joseph L. Mckibban of California
University set in motion a weird master robot which set other robots in
motion. More than five hundred miles of wiring were used to start the bomb.
Electronic impulses were set in motion and relayed messages; electrons
moved into position. Observers stood with coloured film over their eyes and

heads averted.

Overhead two B-29 super fortresses hovered, equipped with recording
instruments to test reactions in the atmosphere. Ten seconds before zero

hour a green flare warned the spectators to keep down. Then came the

blinding flash.

The whole area was suddenly brighter than the brightest day light, and
the bomb was a ball of fire. Even at nine miles, the heat was scorching. Then
came the tremendous roar and the heavy pressure wave, which knocked
down two men outside the control centre. And then came the cloud — the
mushroom cloud, all the colours of the rainbow, ironically beautiful surging
upto over 40,000 feet, over 10,000 feet higher than Everest. The great steel
tower had gone. Lead lined Sherman tanks took scientists towards the huge
sloping crater where it had stood, to see the effects of radiation on the surface

of the earth.
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71. The beauty of the mushroom cloud is ironical because
(A) It knocked down two men outside the control centre.
(B) Of the devastating nature of the bomb.
(C) The bomb destroyed the steel tower.

(D) Clouds are not devastating.

72. A synonym and antonym for the word Scorching would be
(A) Searing, Soothing (B) Searing, Burning
(C) Soothing, Cooling (D) Soothing, Heating

73. Zero Hill was located in
(A) Desert region of Almogordo
(B) Desert region of Los Alamos
(C) Desert region north of Almogordo

(D) Desert region south of Almogordo

74. Hover means
(A) To remain in the air at one place (B) To move to and fro

(C) To circle around (D) To move up and down

75. The bomb exploded
(A) emitting heat, sound and heavy pressure wave
(B) emitting cloud and cloudburst
(C) without creating much physical disturbances

(D) creating a lot of physical and mental disturbances
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76.

Electronic impulses
(A) were not effective (B) relayed messages

(C) warned the spectators (D) greeted the spectators

71.

The spectators included

(A) scientists, government officials and a strong security force.
(B) scientists, artists and a strong security force.

(C) scientists, a strong security force and footballers.

(D) scientists, technicians and a strong security force.

78.

Who was at the control tower ?
(A) Oppenheimer (B) McKibbon
(C) both Oppenheimer and McKibbon (D) Government officials

79.

It 1s implied in the passage that the spectators were told to
(A) lie down flat, face and eyes directed towards the ground and with the

head away from zero.
(B) cover their eyes with coloured films and keep their head averted.

(C) lie down flat, face and eyes directed towards the ground and with the

head towards zero.

(D) cover their heads with coloured films and eyes closed.

80.

B-29 superfortresses and Sherman tanks are used to

(A) check the effect of the bomb on the ground and air respectively.
(B) check effect of radiation on the ground and air respectively.

(C) check effect of radiation in the air and ground respectively.

(D) check the effect of the bomb on the great steel tower.
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81. —76F 3T 299 TR &I ST (2T :
@ -1 B) 1
< 2 D) -2
81. —76 (3 3 U ! Ol T Ol =
(A) -1 B) 1
< 2 D) -2
81. —76 @l 3 T THISAT HHAR SATGRIT ST
(A) -1 B) 1
©) 2 D) -2
81. —76 %! 3 fauTeH s W I AT R -
@ -1 B 1
€ 2 D) -2
81. The remainder when —76 is divided by 3, is
@ -1 B) 1
© 2 D) -2
82. Bl DY (PIPTR 1: 3 : 4 : 7 S[ITS (R | I I FeTx (I {14 2o :
(A) 120° (B) 140°
(C) 144° (D) 145°
82. b DQETEH (IS TS 1 : 3 : 4 : 7 | J2EN IR FUoH (el 72[6F #I14<7 :
(A) 120° (B) 140°
(C) 144° (D) 145°
82. WY TGS GATHR FHUTE AT 1: 3 : 4 : 7 | UHAYR A G3EA AT BRI

AT ST

(A) 120° (B) 140°
(C) 144° (D) 145°
SPACE FOR ROUGH WORK

SLRC-2022/P-IV/D 53 P.T.O.



82. THIAGYIA I T U 1: 3 : 4 : 7 8 | HY &g 3T TH BIE 10T o &= T 3T 8

(A) 120° (B) 140°
(C) 144° (D) 145°
82. The angles of a quadrilateral are in the ratio of 1 : 3 : 4 : 7. The difference

between the largest and the smallest angle is
(A) 120° (B) 140°
C) 144° (D) 145°

83. /20 x 45 +4/0.04 ++/0.64 T (202 :
(A) 26 B) 31
(C) 36 D) 41

83. /20 x 45 +1/0.04 ++/0.64 4F I

A) 26 (B) 31
(C) 36 D) 41

83. /20 x 45 +1/0.04 +~/0.64 3 7 371 &

A 26 (B) 31
(C) 36 D) 41

83. /20 x 45 +1/0.04 +~/0.64 FTAFR :

A) 26 (B) 31
(C) 36 D) 41

83. The value of /20 x 45 ++/0.04 ++/0.64 is

(A) 26 (B) 31
C) 36 (D) 41
SPACE FOR ROUGH WORK

SLRC-2022/P-IV/D 54



2 3x+ 5y 6x+ 4y
84. M =73, (oI x5y T 6x_y 1T
1 2
@ 3 B 3
1 2
© -3 D) —3
2 3x+ 5y 6x+4y
84. M= = 3 T, W g et ey y ST
1 2
A) 3 B 3
1 2
© -3 D) —3
x 2 3x+58y 6x+4y
84. e =G g T e =7
1 2
A) 3 B 3
1 2
© —3 D) —3
x 2 . 3x+by 6x+4y .
84. y—3,?ﬁ3x_5y 6x_yw%.
1 2
A) 3 B 3
1 2
© -3 D) —3
x 2 3x+5y 6x+4y .
84. Ify =3 then 3x— By + o y 1s equal to
1 2
A) 3 B 3
1 2
© —3 D) —3
SPACE FOR ROUGH WORK
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85. I T ABH! T ARAF @orFet 190 2, (S8 HBIZSF 7 FRANGI 23 -
(A) 40 (B) 19
(C) 38 (D) 36
85. W I #1565 Ffare MR2IF (@IaFe] 190 2, S SIva T Foes 171 = -
(A) 40 (B) 19
(C) 38 (D) 36
85. WA oMU (AR o) SR Srmerman dfe 190, s6Rf AeE w3frgs gafem
ISR
(A) 40 (B) 19
(C) 38 (D) 36
85. fe ufe shANTd G131 1 AT 190 7, A1 370 & a8 BId) G 3
(A) 40 (B) 19
(C) 38 (D) 36
85. If the sum of five consecutive numbers i1s 190, then the lowest number
amongst them is
(A) 40 (B) 19
(C) 38 (D) 36
86. b1 7I<faaf AT 2T 2450 T {79 FI AN T[T BT = :
@ 2 B 3
© 4 D) 5
86. TSN IR AR AN 2450 (F @< T 7J<f q0f Tolere 2| AR GIIG =
@ 2 B 3
© 4 D) 5
86. T AR 2450 T AFSTSISEAT ST 3T &7 STETA ?
(A) 2 B) 3
(C) 4 D) 5
SPACE FOR ROUGH WORK
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86. TH e B HE&AT R 2450 1 Teh 0T I S ok Tor@l o e S =nfed, 9@ @
A 2 B) 3
© 4 D) 5
86. The least number by which 2450 must be multiplied to make it a perfect
square, 18
A 2 (B) 3
€) 4 D) 5
87. M G & 20% RN I =W, (S Gellq AN 492 G0 M T G fpiey
X1 B3 I A 2
@) 182% B) 142%
©) 152% D) 162 %
87. M ofem o 20% e =7 w@ i Bfew a2l 6 =reiked FICS 201 ACS <6
FofafEs A 2
@) 182% B) 142%
©) 152% D) 162 %
87. Sfe feifa ST 20% ST STATST T8 T 311 9 Fid W TE AR 98 SiEiel TErE
GHEATH ?
@) 132% (B) 142%
©) 152% D) 162 %
87. afe <t i hima & 20% Y g B 7, A T THER 1 A F 30 F fepew wferera Hr
! BT =fEe qrfe sote THE w© 2
@) 132% (B) 142%
©) 152% D) 162 %
SPACE FOR ROUGH WORK
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87. If the price of sugar increases by 20%, by what percentage should a
household reduce its consumption of sugar so that the budget remains the
same ?

@) 182% B) 142%
©) 152% D) 162 %

88. p, q, r GG RSB TR ATS p SF q IAAG. q, AF qHAF r IFAANB. r T | p, q
I r 9 .S, (2R :

A q B) r
©) ar (D) par

88. p, q, r 9 oAb MU AMS p 8 q GI AR, ¢, R q S r GWAIALB. v | p, q Sr «F
.8, (T :

A q B) r
©) ar (D) par

88. p, q, r 3T AHATH WET(E SFRH STE p AR g T .39 A1 W q, q 30 r (7 g.3m49
TR ¢ | p, q IR r 53791, AHST AT ?

A g B) r
(©) aqr (D) par

88. p, q, r & HEATE 39 YHR & T p 31 q % orgam gEEa (LCM) q & 3 g 91 r 1
TEAH FEIG 1 B | p, g 3N ¢ 1 ALTT qHIE B
A q B) r
©) ar (D) par

88. p, q, r are three numbers such that the LCM of p and q is q and the LCM of
q and r is r. The LCM of p, q and r will be
A g B) r
(©) aqr (D) par

SPACE FOR ROUGH WORK
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89.

89.

89.

89.

89.

20 i1, / BTPe ST sifotasre Bfet 4t 100 6 T @¥e @@1sier 1 5.0, rfa @e=
e~ RETS (TRIIOIT SIE el 7

(A) 45 Y (B) 50 %

(C) 55 WY (D) 60 B

100 B T @fs @@aml &ifs ETrce 20 G wifen sifstast 1 [esfis Teafa o1
TRoT T | (FEANTNHA (TQ ST FHCS TR 19

(A) 45 TIPS (B) 50 TS

(C) 55T (D) 60 TIPS

100 Ty wm3ash 1@ o7 3n 1 6.0, eeumfy gt 20 /4. 7@ MEfs e[ | gt
RAT S 7 3T 9 T A 2

(A) 4549 (B) 50%

(C) 55% D) 607

T 100 HieX @&t ¢4 20 H./Hehe i THEAH T & Fard! g3 1 foh.Hi. 9 & o I IR
HIA B | I T IR B o o1 27 gra fern men wm=r 2

(A) 45 %% (B) 50 e

(C) 55%hs (D) 60 T

A 100 metre long train moving in a uniform speed of 20 m/sec crosses a

bridge of length 1 km. The time taken by the train to cross the bridge is

(A) 45 seconds (B) 50 seconds
(C) 55 seconds (D) 60 seconds
SPACE FOR ROUGH WORK
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90. 0.037 I S ! (202 :

37 37
A) 990 B) 999

37 37
© Joo D) 7000

90. 0.037 (3 S AITB TS A

37 37
(A) 990 B) 999

37 37
© o0 D) Tooo

90. 0.037 4 SrEEE< 7L JEE

37 37
A) 990 B) 999

37 37
© o0 D) Tooo

90. Tk =% ®I T 0.037 T TYTAWT &

37 37
A) 990 (B) 999

37 37
© Jo00 D) 7000

90. The conversion of 0.037 in the fractional form is

37 37
A) 990 (B) 999
37 37

© 150 (D) 1000
SPACE FOR ROUGH WORK
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91. Choose the correct option which best explains the meaning of the idiom

“To give up the ghost”.
(A) To exorcise a ghost (B) To die

(C) To be possessed by the devil (D) To worship the devil

92. The application letter and the resume perform :
(A) the same task (B) two opposite tasks

(C) overlapping tasks (D) two different tasks

Q. 93 to Q. 96 : Insert the correct options in the blank spaces :

93. The tenants were asked to throw all recyclable trash into __
(A) the green big plastic bag
(B) the big plastic green bag
(C) the big green plastic bag

(D) the green plastic big bag

94. The process uses an innovative digital technology

many colours as the image contains.
(A) that imprints it (B) that imprints

(C) that it imprints (D) that imprints on

the products with as

95. I quoted it from .
(A) Mind (B) Heart

(C) Soul (D) Imagination
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96. The company because of the prolonged strikes and lockouts.
(A) went into black (B) went into green

(C) went into yellow (D) went into red

Q. 97 - Q.98 : Choose the correct pair of words which are SYNONYMS of each

other.
97. (A) Regent — Substitute (B) Monotony — Variety
(C) Ancestry — Posterity (D) Precept — Example
98. (A) Vacillate — Waver (B) Oscillate — Stand
(C) Undulate — Flow (D) Spiral — Drip

99. Choose the correct pair of words which are ANTONYMS of each other.
(A) Lazy — Indolent (B) Glide — Drift

(C) Entire — Total (D) Obligatory — Voluntary

100. Choose the option which will best replace the underlined words in the

sentence to make it correct :

“She done it to quick so it came out looking rough.”

(A) done it too quickly (B) did it too quick

(C) did it too quickly (D) did it to quickly
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